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QUESTION 1

Two services need to exchange a business document that exists as an XML document. Each service\\'s contract uses a
different XML schema to represent the business document structure. This results in two different XML representations
for the same business data. Which of the following patterns can be used to enable the exchange of the business
document between these two services?

A. Data Format Transformation

B. Protocol Bridging

C. Atomic Service Transaction

D. Data Model Transformation

Correct Answer: D

QUESTION 2
The Process Abstraction pattern can help solve which of the following problems?

A. When business process logic is physically distributed across independent service implementations, it can be difficult
to extend and evolve due to its decentralized nature.

B. The same business rules may exist within different business-centric services, leading to redundancy issues and
governance problems due to the challenge of maintaining consistent rule logic within multiple services as rules changes
over time.

C. Grouping non-agnostic business logic together with agnostic business logic hinders the governance of the non-
agnostic logic and the reuse of the agnostic logic.

D. Bundling both messaging and validation logic into the same service eventually results in the creation of redundant
logic across multiple services, thereby causing performance challenges.

Correct Answer: C

QUESTION 3

The Protocol Bridging and Data Model Transformation patterns can be applied together to the same message or data
exchange.

A. True
B. False

Correct Answer: A

QUESTION 4
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By applying the Service Broker compound pattern, you establish an environment capable of carrying out which of the
following patterns?

A. Data Model Transformation

B. Data Format Transformation

C. Transaction Protocol Transformation
D. Policy Transformation

Correct Answer: AB

QUESTION 5

The WS-BPEL technology can be used when applying the Compensating Service Transaction pattern.
A. True

B. False

Correct Answer: A
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